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I Which is the State

(1 harh i1 Blawani
(2) W'ﬁ’rl" (2 I'l“ I'III‘-'“-
(3w 1 Sompat
) dm vl 14y (Chandigarh
(5) 79 1 =57 e (h Not attempted
fo ol inn which district
x s 2. Nar N . cave 18 situated in which
2. TS T A & G f & fam 8 “:r.;;r:::;m

(1 =Emm :

i1y Sonipal

«12) T
3 5 V/ (2" Yamunanagar
(dh LF}
bis (3} Kurukshetra

(4) hEE

(41 Bhiwani

(5) I 5l 70 = (5)  Not attempted

-

3. A T = v § 0 e v e B

3. During rniny season, which river becomes the

R =Y FE R 7 major  cause of floods n  Ambala and
(1) ®rEm I8 - Rurukshetra districts of the State ?
(2) =EE TE {1} Hakra River
21 Markanda Ri
(3)  Tah A { larkanda River
, i3 Rakshi Kiver
(4) et IH .

4} Tangri River

(5) I I =N =Ed (5] Not attempted

4. i & ghemsfrm d = R 2 4. Which State lies to the South-West of Haryana ?
(1) TaEH .- (1) Rajasthan
(2) IW WM 12} Uttar Pradesh
(3) 94 (31 Punjab
(4) TEMEE (4}  Uttarakhand
(5) 3w Tz 9 (5) Notattempred
5. 24y DR W T e fmafEm r |® iﬁ::‘l?:l‘;;{‘::_h“m Ram Power Plant is located
(1) femm - . (1) Hisar
(2) TR 3 (2)  Yamunanagar
(3) famw (31 Sirsa
4} Panipay
i O LT Kokl _
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6. MTEE W iy & U, wHd Whao is the founder of Bhakra Dam Project 7

(1 < R - 6. (1) Choudhary Chhotu Ram
(2) i =) GG {21 Choudhary Bansi Lal
(@) =gf ronfy fim 72 (1) Choudhary Ranbir Singh Hooda
(4) =i =g . - (4)  Choudhary Bhajan Lal
(6) Im T el S (5) Not attempted
7, £ i 7.  The Third Battle of Panipat took place between
mﬁqﬁﬁ:‘ﬂ T " the Maratha rulers and :
i1y Ahmad Shah Abdali
SH R R A {21 DBabur
@) . {31 Hemu
@ w 41  Mohammad Ghori
(4) ez M (5} Mot attempted

(6) It 77 T ==
B.  In the Mahabharata, Haryana has been ealled

B. wEwmT § wimm + wE T | : =
(1) wfum (1Y Huoridham

(2) 'ﬁﬁﬂ'l‘n i2) Knshidham
(3 wguwms (3)  Bahudhanyaka
(4) a ghEm 14} Jaya Samhita

(5)  Not atte
(5) I 7 &0 = SR,

0. - - 5 b 9. What is a Phargal/Fargal in the traditional altire

of Horvana ?
M) st 6 wft e (1) Infant's shirt
(2) Wiy : (2) Shirt
(3) I (3} Children's cap
(4) e aivgd (4)  Fulkari odhani
() I 78 &7 wga {6}  Not attempted
10. Frefifm & & s wfaron € wfemsii w1 griafes (10 Which of the following is a traditiona costume
o 2= Zo8 e fam & RO C— 3, for women in Hﬂryunu, which is given to a bride
(1) i at the time of marringe 7
(2) g, — (1) Lahariya
@ (2} Dimach
@) wifem (3) Gumalj
G 8 ik (4} Mandiya
ma;____ (5) Not attempied
age 3
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1. fafafas g a 20200 sifi 344 qr::f v | 11, ':':11 mi 4:::::":;i:k:zlllt;"-;:::r:::‘;::‘ll ‘; "rr:;" h::-i::
s ﬂ-::lll-: b 20200, Faridaboe ?
BUNRLUSCR o O (1 Himachal Pradesh
2 “_”“T:' 21 Rajasthan
(31 I TEn
W Uttar radesh
P , (4)  Punjab
(6 T8 A & =
() Not attempted
12. W 3fm K, “ghamn sﬁiﬁﬁh et T 12, Where in Haryana is the fying Lraining centre,
l'[!:?l'ﬂfl‘ﬂ" (HICA) 1 warr gfearm § fom 7 w “Haryana Institute of Civil Aviation™ (HICA) set
7 up ?
n Twm (1) Gurugram
2y fidnps (2)  Pinjore
(KIREC o (3)  Bhiwani
4y Tres 4)  Rohtak
(5) I T = oama (6] Not attempted
13. wiEmm & fasrdt miam fGm fam WA A HAW W@ (13, Harvinder Singh, a sportsperson from Haryann,
89 belongs to which sport 7
(1) wqfm L (1 Shonting
(2) feerm @ (2}  Discus Throw
131 T 1) Hockey
(4)  swh 40 Archery
(5) I =f 20 = (5)  Notattempted
14.  Frwm gom = lraron i gyl a0 4. Where is the Chinkara Breeding Center located
(1) =11, S in Haryana ?
(2) e, FEaE (1 Morni, Panchkula
i b 2 Pipli, Kurukshetra
(4) ¥%, fiarh L~ W) Misnr
(5) I A B A 41 Kairu, Bhiwani
15)  Nwm attempted
= i
15. _ﬂﬁqf:“ g fom i u‘ﬁ‘m ﬁ“]l =" Wi 15, Which year was declared as the “Girl Child Year”
T 7 in Haryana ?
(1) 2006 (1) 2006
2 2014 (2) 2014
3y 2016 (31 2016
@) 1964 (4) 1994
(5) I A T (5)__Not atlempted .
AMRA/C4/Page 4 T W1 & ferg varrw | SPACE FOR ROUGH WORK




T T e

#t " i - i " o= -
Iﬁ- :ME‘ ﬂwﬁmﬁ:;tﬂ; ‘H_',-‘ GICHC) ) warmn | i'.'é ,",‘ I6. When wns the Jdatayu Conservation Isrﬁ-t-fijn“
* i W o 'y i g - E ¥ :
m? % (YEC) % %9 4 aw om Centre (ICDBEL carlier known ay yhe Vulture
Care Contre (VI '(*), established
(1) 2001 :
i1y 2001
¥ o il (2 2011
@& 2007 (3 2007
(4) 2016 (41 2016
(5) I TH 21 5 (51 Not attempted
117. 8 2 9 e favm mn ) A5 B den A |1 0 which year was the number of seats in the
T 90 forqy om0 Haryana Vidhan Sabha increased to 90 7
(1) 2008 (1) 2008
(2) 1966 i2) 19606
(3 1977 (1977
4) 2001 14y 2001
(5) I T Z =vEA (5) Not attempted
18, wemalas e % Sevm @ wfwn o= w9 ) um 18. Haryana State is divided into how many
oAtz R ? divicions for administrative revenue purposes 7
(1) 3 ar 3
(21 B
2] 8 6 B
@ 5 v~ " &
@) 6 (5) Not attempted
(5) I I ZA =T
19. The Mahabharata war took place in which region
19. TETaWa %1 gg efn & fEw A | gen @1 ? of Haryana ?
(1) FHEE (1) Kurukshetra
(2) MR (2) l"?nipnt
{a) f&m (31 HIS?:I"
(4 (4y  Jhajjar
} a (5 Not attempted
{5) I A 21 = med
e . |20. As per the Census of India 20 - ; .
20. undm e 2011 & wgER, weEeu § g2 @ Tk slakn o 'rll;: He}r:varm |s1tth
ey &= g AG U R | population. ia in terms o
M serEEl |~ (1) eighteenth
(2) dzal (2) FAfteenth
(@) vamral (3) eleventh
(4) =zwat {4) tenth
(6} TeW I FT W (5) Nol attempted
i % @4 3 ferg T | SPACE FOR ROUGH WORK




) —— T 2. The meaning n.l: the Harvanvi proverh, “Tawly g
21, wftanrh swify e 3 9 'Flﬁ ot Bawla” (/T A 917 s -
. il
(10wl wm e ) TR fl by {1y Selfish peaple do not care for others,
(21 e s fadw ® i yEvadd W (2)  The hasty person's discretion bicomes zern,
(3) vl wwl & e T ; . ;
! (3)  Doing un unimportant work in the absencs
el ; :
. of an important work.
a— 3 A el 17
i W E_{F'F-ﬂ‘ﬂ ot 4 (4)  Evil spreads faster than good.
(B) T 7d & e (3] Not attempted
22. Fafefum # & fem fomrd 3 pese @0 2018 22.  Which of the following sportspersons won (he
7§ =i 77w Fm 2 bronze medal in Wrestling in the Commonwealth
(1) fam e Games 2018 7
(2) A =y (1) Vinesh Phogat 27.
(@) e - (2} Yogeshwar Dutt
(5) I 3 = A (4)  Geetika Jakhar |
(6] Not attempted (
23. v § weafim fafafey faanfei d 3 femd 71541
K r o 23. Among the [ollowing players from Haryana, {
2020 Saeries 7 w0l v w foean 2 who won the gold medal in Tokyo 2020 (i
(1) Fm e Paralympies ?
(2) T o= (13 Ravi Knmar Dahiya 28, F
(3) =i ofe= {2)  Sunita Sharma fo
(4) g sifm |~ (3)  Sakshi Malik He
(5) I 7H T amA (4} Sumit Antil (1)
” 15}  Not nttempted
24. FE A wvem wA wf £ iy feg =tw TR " (2)
& 24,  Who was the first person to be bestowed with the
(1) =5 T title of the State P'oct in Haryann ? o
(21 Wik s 1y Kavi Chand Nardai '
@3 I "EH B (2} Bhai Parmanand ‘-"‘4)
(4) o e T :i: E:nyﬁl;!hﬂnu Huons ()
_ : Shri Khushi Ram Sharma
I A T
o - (3]  Net attempted 0. Cho
VECRE £ s foem #9 0 w0 mean
25. il & F i 5. The very first versa of the Gita degeribes “Histe
2? i ‘Kurukshetra' ns
(1 T (1) Yudhkshetra (place of wqr) L u
(2) ydem €2) Dharmkshetra (place of "Il-fh'll.'uugneg,;] 2) L
(3) ﬁm@m @)  Shikshakshetra (place of learning) 3w
{4y TUIRTH %) Rankshotra (place of buyye) 4
(5) e A E e t5) _Not attompted th) N,
IPage 6 1o wrd 2 FoT WIT | SPACE FOR ROUGH wopy —————MRA/C /Py,
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Choose . a5 o
the correct alternative to irl'lhrn'l.'lr the

30.  Pick out the correctly spelt ward

a5,
underli
inl:tn:r .1l|r-d ;.mrt |.+i' the  sentence. If pg ;
provement is required, your answer is (4), (1) immaculate "
In this jet nge, eve o (2 inmaculnte
» BVETYONRe 15 interested § :
M i lﬂ_l'ﬂﬂ"ﬁ (1 immacculate
(1) had easy life (4 imaculate
) (5)  Not attempted
(2) for h.nrl_- an casy |lﬁ‘ n
(3! to having easily life 31. Pick out the wrongly spelt word.
(4)  Noimprovement ~~ (1) preference 7
(3) Not attempted 2}  dilference =
(3) performence v~
97. Fill in the blank with the suilable preposition. (4) reference »
He boasted his riches. (5) Not attempted
(1) of
@) ith L/r 32. Pick out the antonym of the underlined word in
b the following skntence.
(3) about [ saw her sitting motionless in her chair and
(4) at gazing at the door.
(5) Not attempted (1) lazily ~
{2y  bending "",/
28. Find out the correct indirect speech form of the (3 negatively *
fullowing senlence. : (40 lively
He said to her, “You cannot see the chairman.” (5) Not attempted
(1) He _ told her that he cannot see the 43, Pick out the synonym of the underlined e
chairman. the following sentence.
(2) He told her that you could nol see the I cannot rest from travel; T will drink life to the
chairman. lees.
(3) She was refused to see the chairman. {1} encourage
# He told her that she could not see the (2) giveup "
chairman. (4) accept
(5) Not attempted (41 join
(5) Not attempled
2. Choose the word which is opposite i the
meaning of the underlined word : g4. Fillin the blank with the suitable allernative.
“History abounds in instances of cournge.” e wanted ___ in the pool.
( e (1) toswimming
1) suffices A
@ (2) swim
(3)  ghines (4) toswims
(4} failures (5) Not attempted
(i) Not attempted RK
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; eanire conisting of
: it il
8i% genlences. The frst o llod 88 S i
" ¥ i) fLtL FLUL e
are given i the beginmng and labe 1

Se respectively. The middle four Erntm:lr{:s o
boen jumbled rup These are labelled as Q. R,
8. You S m]uin‘tl o find the pr::l]]l_'l‘ order for
the four sentences.

1 Hetried the door.

Sg  He was careful not to touch anything.

P The room was neat nnd clean.

Q. Then he stepped into the room.

R.  He waited for a minute or two, &
5

It opened ensily and he peeped in.
. (1) QSPR
2 RPQS
(3 SPRQ 4~
(4) PQRS

(51 Not attempted
36. Choose the
following sentenee :

Sharan was being taught by Anil.
(1) Anil was teaching Sharan L—

enrrect n-:tiw_:- voice form of the

Read the following passage and answer questions
I8, 39 and 40,

If 1 had been nsked in my early youth whether |
preferred to have dealings only with men or only wigh
books, my nnswor would certainly have been in favoyr
ul books. In later years this has become less and less,
Not that | have had so much betler experiences with
men thun with books. On the contrary delightful books
EVen now come my way more often than purely
delightful men. But the many bad experiences with

men have nourished the meadow of my life as the
noblest hook could not do.

38, Which one of the following statements best

reflects the main argument of the passage 7

(1) There are more purely delightful men than
purely delightful books. =

(2) Tt is the experience with other human
beings that nourishes one's life and not
necessanly books, —

(3)

Neither men nor books give any worthwhile
CXpeTience,

(4)  Books are always better than meni®”
(6)  Not attempted

@ Anilis tonibiid Bharca: 39, The nut:hu_r :sn:fﬁ that in later years his love of
; books diminished beeause
(3) Anil had tnught Sharan, . : ;
: _ . 1) bhe had better experiences with men than
(4)  Sharan is teaching Anil, with books, w2
(5] Nat o
ot attempted 12} he had given up the habit of reading books,
37.  Pick out the part of the sentence which has an (31 even the bad experiences he had with men
error. IT there js ng CITOT, ¥OUr answer is 14), were more valuable than what the noblest
Some men are born et books eould give. .
'_—_——_______‘__ # F
A (Y he did not get many delightful books to
some achieve greatnesg and R
B (5)  Not avtempted
some had greatness thrust upon thiem, 40. Which onv of the pairs of phrases best holps (e
- PR bring out the metaphorical meaning of ghe
- (- ‘meadow of my life' ?
(n C (1)  Vast and rich life
(2) A (2)  Well-nourished but dull life
3 B

(4) Noerror

(5) Not attempted

(3} Poor but simple life
(4} Pure und healthy Hﬁ:w
{5)  Not attempted
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(5 E _//
AT T e SPACE 0

fm-tam ) zfe & Gsfafaa o 4 0 s
LRI ol
@ s fifaw | "

(1w 3y @@ qeem @ » 2 - uwa g

(20wl 3 g, “dre gn 2@ 00 dres B
(3) ¥ e avema ! - fasmnfzanes e
(4)  9FTEl Wk fe oofi & | - gl farm

(6) e Al Fn =wa

‘el fangradt wm A

3= g9z § g ot Az 3 oA o

e el sz

(1) =i S7EER &

12) wafdie HHT F

(3) TWH NETHR &

(4) umﬂ:ﬂﬁimwab/
(§) I FE &A1 =R

g’ = Fffa 2
() e d

@ g
3 3gwi A

4 g oml #®

(5) 3w 7 &1 e

(3)

oz @ i e 1 |
(1) ag+3=38 7 ‘
(2
(3

[4)

 + 3 =T
T + 31 = 791G
T 4+ 34 =TqH

C4/Page g

I

4.

47.

48.

s g’ e fan frm.faarm 5 vafica § o

(1 it faen Fadmen
(2 wrha faem-fasm

() wega fanfamm

(4) s faran-farm

(5) 30 AF & WD

S 1w arn, fees T’ arwts & afea Gend
H=|g?

(1) wt@#hzﬁnmmwm
y =

(2) 39 9= I gEed 7 A0
@ o & ae fad 33
(4) el AR AT fredt 3 ff 2 <

(F) 3 #1241 9

F ez AeEN TH R 7

(1) =

"L~

o™
Tt 78 27 9TRd

mmﬂqfﬂam%iﬁﬁtﬂ

@A B

amn
(g W

@ @
mq’ﬂi’-ﬂm
ROUGH WORK
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2. ‘) e ¢ A 2 A R
49, Fmm fem frwen d g R ?

(1) #ui"
o9 (2) TN AT
2 veEfy - (@ ﬁq“
3 F=h (4) fmg
a7 (5) I 1 21 e

53. ' w2 % for 3o ammin =1 v if |
(1) wmEn] = weEs § o

(2) FAHE & G
- & o - ? - ™
50. = #1752 & W fawey amim 2 (3)  wFENm i wefem anom

(1) ¥+ 57 = ol *Lm’ﬁmhmmﬂmaﬂﬁrmﬂﬂn

(2) 9 + 37 = 3=

(6) 9 3T 2 =mee
(3) ﬂf“h:'-!ﬁqn:mﬁmmy
(4) 9 + §mn = v o mﬁﬂﬁmﬁmm’mﬁmaﬂﬁn
(5) 39 =8 3 =3 M % 9fy - g L
(2) mﬁﬁﬁ#‘-mﬁ_m
(3) mﬁrtaﬁyﬁ,_m
51. ‘'z

m%fm'wm"maﬁﬁmmﬁﬁﬁwm (5) I Z1 wrey

gt |
55. S 1 sy g T Wravm & |
1 sm |- * frs ‘ -
R T T -
(2) 3 ey |
n-l a‘!{-qf:
(3 fEn 2 wy —
(K] q'g;qﬁ‘,‘
(4) s "
(5) I 7 &M ey (6) IM 3 ¥ wmd
e Fﬂﬂﬂﬂmwoux T —
AMRAJC4/Page 10 1% wrd & FoTn T | SPACE
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A H G5 W uw swiiiy oW ® AREnH ¥ | 66,
" 9E W "HEm oW ot & | smA s B w |

7 ?fﬂ'ﬁfﬂi Imd B ath 1) wwm @ o wan wma i ‘H'
gﬁm_ s wfkenst & wwa ot B sssm A aw i
L GERIE qan g W "

M s4v

(2) 18

(3} 45

4) 36

(6) IW FE 0 = ma

a4 fon oW & avil w1 W w0 IR
@A aTE T% w1 A hifa |
SEPARATE

57.

wenl bus

of wainan 18 twice of Lhe number of mmge

which itarts {rom eiiky

In a ki
munmbee

In the next st
11 men enter the bus Now the number

ALon I{I i women Kt dowr § Fir
of men

and women is equal. In the beginning how man

PassCnErs entired thot bus 7

i1y b4
(2) 18
(3) 46
(4) a6

() Not attempted

Find out the word which eannot be formed by
using the letters of the given word.

SEPARATE
(1) PARADE
(21 TREES
(3) TEARS
{4) ERASE

(5) Not attempted

Numbers and their letter-codes are given in the

following table : _ 24
(Number | 3 | 7 [2] s [6]s]
etterCode| X [E [ F [ ¥ | P | L]

You have to find out which option has the correct
coded form of the number group 8637,




60, frfafr i ft wa.m w e B 2

1)
2
)
41
(5)

61, us wzh) & v g w0 R HE A wW, Yaw

1516

625: 56

108:49

42:4 L
T T E A

=2l 7t of % o 1 o=h R |7 i W o3n wedh
GEOETIR R

{1
(2)
(3)
(4)
(5)

62. Fﬁ#mﬁ:miﬁﬁﬂﬂfﬂmtlmm
mnﬁammmma&mm@mﬁﬂw
Hifm hﬂlﬁﬁﬁﬂna&qmmfmﬁuwm

fm

L&
H—"
I 0 e

ﬂfmuﬁmﬁf|

Fed: il 9k fufgd 8
wfi i fafi 4 |
7 firrey i & |

e (1) mh fem fafgar 3 | &

(1)
(2
(3)
(4)
(61

M sefmge, 7
D Fo faft fom & ) L

I 11 3 11} Py
hﬂlﬂumnmg O
e 11 Frwern 3

F 13 11 Frarery 4
m?ﬂhm

AMRASCA/Page 12
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61,

.E'II'I.[l the odd one out.

i1y 48:6

{2) 626:D

(3) 105:9

4) 42:4

(3) Not attempted

Pointing towards a girl, Ankit said, “This girl is

the wife of the grandson of my mother,” How is
Ankit related to the girl ?

{1}  Father

(2) Uncle

(3)  San

(4 Father-in-law

(5)  Not attempted

Three  statements are  followed by three

conclusions. Take the statements 1o be trup even
if they seem to be at variance from the commonly
known facts. Decide which of the given
conclusivns logically follow(s) from the given

statements,
Statements : Al rats are enls.
All lions are cots,

All deer are lions,
Conclusions = (1) All deer are cats,

{1y Some deer gro rats,
(MO Some cats arp doer

(1) Only Il and 1171 follow

{2)  Only I and I follow

(@) Only I follows

(4)  Only1and I follow
(5) _Not attempted

! 'I‘nr




@mﬁ{xlﬂwﬁm?? Al
a5, 46, 59, (x), 91, 110, 131

(1 64

@

(3 79

(4) B84
(6) I TN E= w=EA

wta 5% dfee § 43 ¥ | of, giw sven sfe &
frFeea 7 4@ # | 3, g@ & freem o &
¢ 8, T & G d@ | A 9T oaa |
d # ) wFw 7l s s H d R M o
ﬁqﬁﬁaﬁnﬁnﬂaﬁmw#m#;x_.jm;{?

1y S aft

2) W Jﬂ M”' i
@ gwmL 4 & il
4y ==

(5) FeR ET Z A

o w3 fw wh | g A ke # A

uﬁghmm-mimmaa'r@?

(1) st Tt @ A A e

(@ & wderae i gip ¥ & g =
favira fiferat @ S

(3) @il @ e 3= g A |

() 3rq i @ uA IV EH F A w0

-7

B3. What is the value of (x)in the sering 7

a6, 46, 69, (x), 91, 110, 131

i1} 064
2y T4
{3 7
(4 B4

(5) Not attempted

64. Five 'boys are silting in a row. Ravi is nnt
adjncent to Suresh or Anil. Anubhav is not
adjacent to Suresh. Havi is adjacent to Mohan,
Mohan is in the middle in the row. Anil is sitting
at the end on the right side. Then Anubhav is
sitting adjacent to whom out of the following 7

{1) Ravi

(21 Mohan

(3) Suresh

(4) Anil

(50 Not attempted

65. Youare a Finance Minister of any country. There
is recession in the economy of that country. What
best action would you take ?

(1) Try to get money f[rom inte mational
agencies.
(2) Implement good financial policies to
enhance the economy of the eountry.
(3) Divert the mind of the public to other &
jssues.
Try to berrow money from other countrics.

=g

(4
(5) 3w el 21 <TEd (5) Not attempted
Fefafan s 'IE'HT & g w0 & forg A Ry m 66, Select the mis¢ing numbers from the given
farwei ia g AEmaT w1 hfa | options that will complete the number series.
0,26 7, 20,30,42, 2 ,7290 0.2,6.2..20,30,42, 2 , 72.90
M 18 3fk 56 i) e
2 123t s6l @ aRe
9 183t 48 oo
ﬂl (4) 12 and 48
{zjtﬂ amed (5 Not attempted ——
rpaﬂ_e 13 mmﬁtﬁ!“’“”m‘: MR EM.; And
1.
W = FEHE S 2 {f}* T = s
17 cY
3 R



I =

e

Fresferfen & fim w2 700 10T

rl:-"'?. Find t-Iir odd one out,

P’ﬂﬂl Um

67, \_~ (1) Lyricist = Song
-
(1 wfen (21 Farmer = Plough
2 feam —¥a Lal Snad
(3 Aibnurer - Spade
M  wigw - WL M '
. i4)  Carpenter - Saw
(4)  wgE - =M
[ T "
R 1 (50 Not attempted
: 68.  Select the option that is related to the third term
- 5 o b q7 u :]'Jiﬁ TRH H-Eﬁm h
68. T fawm & gfm A A i in the same way as the second term is related 1
i wom gmn w wafar Rowe WA the first term,
12:72::6:7 12:72::6:7
1 46 (111 46
(2) 28
(2} 28
3 lﬂ\/ (4 1R
4) 64
- . (4) 64
15 T =¥ 7= 9
(6) Not attempted
69, = fasm 3 i #et vz & ' '
T At w2 B 3 v w2 gp.  setect the option that is related to the third term
Foe vam 7en o2 wafim B wrdy 4 | i
Y d in the same way as the second term is related to
Mma : AMm : - Ppr: 7 the first term.
(1) RPpy - ePp Mma : AMm ; ; Ppr:?
(2) Rpr (1) RPp
3 RpP (2) Rpr
4y Prp (4}  RpP
(5) T% 7 7 4y Prp
L (5] Not attempted
AR L T Sa———
wzafean fan o 4 L - N 70. Select the combination of numbers sp (hat
DU o Bl the letters arranged accordingly wij) form &
L O meaningful ward :
L33 4y DUOTPI
1 238 45 g
(1 4,3.2,514 (1) 4,3,2.5,1,6
(2) 6,3,1,2,54 2) 6,3,1,2654
3 4,3.1,524 L @) 4,3,1,6.2,6
4 432154 4} 4,3,2,1,6,5
(5) T0T Al By A (5]  Not attempted
— o — _-‘---hh-""h-\_p
AMRA/CAIPAge 14 v wrdh % P, ¥TA | SPACE FOR ROUGH WORK ;
P D W, j O s




W whdT W am g S N
» o s 23 i TI'I wt fiwen & i 71, What is the name of th
TEHTET 7 Jegn & f'-_"f'? T e B wl configuration  of Computer

o software that is used fur

maintenance il

(1) 7@ win aigedg Sywstems

enernl Purpose Software

(20 feamgw zrem {n
Dovice Driver

3 farm qfafersa (@)
4y wtfin farem (3)  System Utilities 'Lﬂ’/
50 I =#f 24 =mER {4) Operating Syslem

( a1

(6) Not attemptod

n @z 8F Aeamem wwrE; sdwA S9N wea
FIAETES FATE ITERY WA § il i |72, Viriual keyboards or  Online keyboards are
commonly provided by Internet banking websites

1 7wl W gwm wfte § mas fEes o
because
wEas

2 tfRfmadfiadamd
3) 2Ed o F foo afam #

(17 they allow users to type passwords securcly
(2) they are faster than physical keyboards
{3) they can easily fit on small screens

4) & A & fom glauras #
i4)  they are convenient Lo the user

5 : 7
(5) T A ZA =TEa (5) Nol attempted

N fefafan § 3 g Fua i SEE & A

73. Which one of the following statement is nol

imd TR correct about Blockehain technology ?
0w vz i F0 T ¢, fm smm = wE (1) Each block has some data called its header,
T #, 3 7 3t W A1EE % fanf 2 @ | which is vigible to every other node,

U iz & vaa wze (yafE) & o aftart (2) It is possible for a single member of the
) 2 § wzena wE o t network to make changes or plter data.

W“ﬁ arh f w=lE & Al i1 A T (3) Only the oWner has access to the private
T ww B data of the block.

I
U W v g e g A R
(5) Not sttempted

"
%Wam am —
404 15 @ wrd & forq 7 | SPACE FOR ROUGH WORK

(4) A block can be a secured chunk of data.




:;ﬂf-l';’f":'l (4) | 74, What is the th

4 eme of World Habivag Day for th
74. fama wntam foas # w 20 yeur 2022 7 ; 3
sk el Wl 3l A # ﬂﬂg () “Mh_‘d le Gap : Leave No One and Plagy
1 um w1 v tﬂ H L Eh'hlnd
oy it o 2y “Inclusive Development, SU-'*'tninable
- ncH Development’
@ “gurawh FyaTa, WA = . Vi |npﬂll nt
P - Ui L ’ Clean Habitat, Healthy Habitat
(4)  “mf & fe amar faEE 4 “Inclusive Development For All
PR (5)  Not attempted
75, a4 s (=g 352) § El't\'rh H‘EF{ 6. The unfnrmme!lt of which of the following
w frfafgn & @ e q@ SR @ Freifam | Fu?dnmentu.l Rights cannot b:-au.«:‘pvndfd 'itl'hpn
; a Proclamation of Emergency (Article 352) is ip
7 A

operation 7
(1w whEw

(1} Right to Equality
(2)  us ) & @ e (2)  Right to Freedom of Religion
(@) i s 0 e (3)  Right to Personal Libertios
(4) Tw=Em= 1 sy
(5) 7 3 =91 9mes

76.  miE fatea-in fey Frd £ 76. Whal is a reserved constituency ?

(1 = g fam wam i i = (1} A conslituency in which only those politica
TR LLc I — TR TR parties  claiming  to represent  reserved
T I categories can contest elections,

; (2) A constitueney in which -
"g_"‘gj"".m .E“i“-ﬂi hHE i‘.ﬂa L m m;{ Cy omly members of 1

(4)  Right to Freedom of Expression
(5)  Not attempted

' ; - - Pﬂﬂil."uh'lr resorved (.'EI.L'FH!I"}' can Et““d f:l'!
mmmquEﬁH%ﬁﬁl elections.
(31 ' Gty Fansd st wfiffura & @ A constituency in which elections are hole
. ﬂmw;f U 9| g ek N fa"uw'i“ﬂ the principles of Proportiona
(4) T 7 g hﬂ': > o a - representation.
faat iam sty 2 : !{Eﬂ " ‘ 4 A constitueney in which the
R ) 5w 25 w0 E |

voler |is

consists only of the memberg of i particula

(6) 377 9# 7 A reserved calegory.
77, fEwht s g, R (®) Not attempted
fari 2m fmg i ﬁﬁﬁ ¥ wq # @& fE&m |77 Whose teachings and

fpeechp .
2 Posthumously written and mmpn:f " wer ¢
> followers in the form of Tripitaky 9 ¥ hi
L,..-'E'I! et . .
(1) Mahavir
(2) am :
: {2) Kabir
(3) I {3) Shankaracharyn
) =3 {4) Duddha
(6) I 97 & =5mA {6) Not attempted
——q..__._,.--'-"""_‘-__
AMRA/CA/Page 15 T o ¥ 1718 01 | SPACE FOR ROUGH WORK T
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80. 684 T fren yown # few v 3 wEiE fre

81.

78.

9. fcfofisn & @ #9 HIR W 3

erfefiaa o 8 g e
1y &fEmm (Ca)
vt (Al
@y afimm (K
aiE e

() e En W

oL ] waea

q{;aﬂqmﬂﬂtﬂﬂlf"!‘.‘

(a) i @ 50T ) B g § 3 W AT
wg = ¥ |

(b) mmmﬁﬁ{mmﬁﬁﬁm#imﬂ
w &1 @z TR S |

e mmmﬁﬁﬁnyﬁﬁﬁﬂﬁm
waea § weed 0 I9Em & i R |

(11 (b)Y T (c)
(2) *F=a (b)
(3) =aa (o)

v{mm (e)

(5) Iw THI &1 AT

feddft o 1 qreww w7

rlh:'iﬂ-.*'ﬂ"-‘l'lr—‘l i kol TR

T8,

-

Which ol the following metals i8 m”ﬂerﬂtﬂll-!r
reactive 7

2) Al
LM K
(4) Fe

(5] Not attempted

Which of the following statement/y jo -5

€ ||rr|.l-|
about change of state of solid 7

(a) The continuous supply of hest g melting
point increases the temperature of ghy solid

(b) The continuous supply of heat s melting

+  point does not change the temperature of
the solid.

{¢) The continuous supply of heat at melting

point gets used up in changing state from

solid to liguid.
Choose the correct option from the codes given
below :
(13 (b)and (c)
(2) Only (b
(3) Only(c)
(4) (a)and (c)
(5) Not attempted

Which State won the most Film Friendly State

x B0,
(1) ewE : Award in the 65 National Film Awards?
S St (1) Telangana
{m—mw (2) West Bengal
(4) WEWTS (3) Madhya Pradesh
(5) Iew T T WA (4) Maharashtra
m* (5) Not attempted
d? 1 w0 # ?
Bl. Whatis GU1?
iﬁ ﬁ c/fﬂ} Graphical User Interface
(2) iHI w (2) Geographical User dentity
(@) o IR (3) General User Instruction®
(@ i TR 4)  Gaining User Informste?
(5) . I 2 T ) Notattempted _——

: wm-mrﬂnnﬁm ROUGH WORK




mi‘fﬁiﬂ-‘m

W wrrEn e ® A
W fm we B amup b O
My

TUEEn

fafaem_ -~

CELil

e B

B wee, e’ s e (i)’ T 6 e
i 2
¢ W Tma i v
(20 w3 A5z
(3)  Tavm anfdw by
GLEE R o

(6] 3T 7 &1 =)

(4]

HTILE 3 w1 e v &
HIT R s
L
(1

fem afm-m gfirs
ELUTILR R
m

(2) =g
(4)
(4)

B5.

(21 wr w9 AT e wen 4
@) ﬂmmammmh
¥ 14) T8 v B R AT W e B g

I Az T

(6

§2. Which art form derives its name

from the
birthplace of the character Sita from the famoy,

epic Ramayana ?

(1) Gond

(2)  Mandola

(3)  Mithila

(4) Vanshri

(5) Not attempted

‘Maharatnas', ‘Navratnas' and ‘Miniratnas' are
classification of in India.
(1) Publie Sector Units

(2)
3)
(4)

(5)

Mineral Rich Areas
Special Economic Zones
Civilian Honours

Not attempted

What the

is name  of the international
organization which facilitates cross-border police
tonperation to combat international crime 7

(1) INTERPOL

(2)  POLCRY

(3 SAFETYCOM

1) NATOD
Not attempted

What is Anthracite ?
(1)

Ap,
It is & form of coal which jg

. Soft wi
moisture content. With high

(2}
(3)

It is the highest quality of
It is the
uEe,

Itis a low grade brown coa],
Not attempted

hard ¢y
most popular coa)
N com
Mercia
(4)

(5}
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UF =i 3 ?“ﬂﬂﬂ!ﬁmgﬂ

ght goods worth @ 6,000 and sold half

f[j;:' Tm "-'I"{ T 4 - a:rﬁﬁi:mg;:; :T:T"-ﬁ BA. A man |H'I‘i: ain of 10%. At what gain percent
S S I W R A 5 250 o ? m :ul:ﬁ:- :d? tfu- remainder 50 as Lo get A gain of
(1 J0% 25% on the whole ?

(2) 35% (1 30%

@ 40%\ (21 35%

4) 25% 3y 405

(6) I T A1 weR 4l RSB

i ﬁm?ﬁﬁm%ﬁhﬁ@mimm
“W*ﬁ“ﬁ"‘mﬁiﬁm?ﬁﬂﬂﬁﬁﬂﬂﬁ
Wmmméwg:

(5) Not attempted

Three equal cubes, are placed adjacently in a
row. Then the rativ of the Lotal surface arca of
the cuboid formed to the sum of the total surface

(1) 2:3 areas of the three cubes is :
2) 5:9 (1) 2:8
b,lﬂy"?:ﬂ (21 5:9
4) 1:3 (3 7:9
(4 1:3

(5) I T8I Z0 =9EA

& % amr F 9| 500 fem <t R, e ww wm aw

8% AT 9 A= R awr 99 18% o™ 9 MR ) ¥ 88,

f A d 3 14q @y B R | 8% @ w A w
ﬁaﬁ!w%:

(5) Not attempted

A merchant has 500 kg of sugar, part of which he
sclls at 8% profit and the rest he sells at 18%
profit. He gains 14% on the whole. The quantity
of sugar sold at 8% is :

(1 Eznfamuf 1) 220 kg
12) 200 fEm (2) 200 kg
% 180 Rem (3) 180 kg
4 300 Rem (4) 300 kg
r -
3 T e =ed i5) Not attempted
" 20,000 = W 2 79 # T 22,260-50 @ 89, ¥ 20,000 amounts to ¥ 22.260-50 in 2 years ot
Y, s sy i A g & | s AT compound interest, compounded annually. The
L rate of interest is :
N 5osq. (1) §25%
l'il ﬁ‘ﬂ u.r 1'.'2] 55%
Y g 3 6%
Y 1o (4) 5%
) . Not attempted
m%’“?ﬂmm @ ) _
y e T e i ferg FuTT | SPACE FOR ROUGHWORK o, /37
‘| > A wﬂ)
. 4eoX— = 30’ At 4
s M _j/a{ T~ y
' 42 Se2e? M,
> 2 -3

' 3 -
5.'\"’, "?’x,_l’%. - 3Jec°



),

92. 1003 100 % &% W areh mmm = AT
Lok B

R et h.-uﬂ]'! ata:b:c K
m 1:1:0F

(2 1:2:1

3 2:1:1

4 1:1:2

(6) I T 30 W

10,000 ¥ frwzam 1 @ w91 2, 8,4, 5, 68m 7
] fanfum wet £, 8

(1) 6320, 10080

(2) 9680, 10060

13) 10080, 10340

@ 6aH0R

(6) 3w off & wed

TE ol i L& b 4 . .
Ifa®*+b® +¢* —ab - he_ Ch=0,thena:}

(5) Not attempted

The two numbers nearest to 10,000 which are
exactly divisible by each of 2, 3, 4, 5, 6 and 7 ure :
(1)
(2)
3
4)
(5)

9320, 10080
8660, 10060
10080, 10340
9660, 10080

Not attempted

The sum of all proper fractions whose
dunnmin.huumlmth.mnraqunfmluﬂm:

(1) 1925
(2) 2124
(8) 2475

g0
(4) ’ﬁ;

5) Not




#l

1 w ady i RYX Frm b

A BOTT Y 0% ey

4.
a3 zmfafy o) 642 1§ Fh a0k wh
w1 #1007 £ ng FrAfef w1 wk g 0o
fid W2 &0, 3fs an a4 frerwe am amd o
m 9wz

i
3 ]aitE W L/
4 62 e

7
(5) I AR 241 "

3l 3 U% =T § w7 30,000 70 ¥ 50,000
miaﬁ%mﬁﬁ??m,umr—mmﬁgam
T F WM MM SR A gt gaiE
0 9, I T F w9 A ala ma | v )

SRR AN ? o 2 IW"
1 ¥ 7,200, T 8,800 A - &

2 ¥ 7,400, T 8,600 G Woo?
% ¥ 7,500, T 8,500 L 3
AT 77,000, 9,000 ),} X

L T ;%}f (030

" % Wi e 100 fah/im F shen e @
T w75 Fh & a8 fiez & R s
"”ﬂﬁqﬁﬁnnﬁm“mmmwﬁi%

1% o e 2

WL PIT s .'f-‘i-ﬂ':_{
0 T A€

05,

A takes § hours to copy @ 50-page manuscrip
R

while B can ecop¥ the same
8 hours, How mnay hours
eopy i similar 1(H)-page manuseript, il they wark

manuscript i

would it tnke them 1y

logether 7

(1) 9 hours

2) !I-?- hours

(b 14 hours

(4) ﬁg hours

{6) Not attempled

Twao friends invested ¥ 30,000 and F 50,000 in a
business. They earned a profit of ¥ 16,000 at the
end of the yenr. One half of the profit was divided
equally between them and other half was divided
in the ratio of their capitals. How much did cach
of them receive ?

(1) ¥ 7,200, ¢ B,B00

{2) T 7400, T 8,600

(3) = 7500, T 8500

(4) T 7,000, T 9,000 ¢
{6) Not attempted

An express train travelled ay ap average speed of
100 km/h stopping for 3 minutes afjep every
76 km. How long did it take o, reach the
JPmt izl 00 I S i e a2

(1) 6 hours 24 minutes
(2) 6 hours 27 minuteg
(3) 6 hours 30 minuteg
(4) 6 hours 21 minutesg
(5) Not attempted

E’ 7:#([ _j}
22
2,

-
1% T4 % faro v | SPACE FOR ROUGH WORK

s
..- --fr" l'l"; @ Jy

Jie
jo= x1

7}



e % g it o e N it

97. wft wwm x, guh w0 y & iﬂ'i & e /|97 Ifa number x is 10% less than another number

v ' and v is 10% more than 125, then the value of »
125 & 10% uhi;t.ﬂl'““d'w oo '
- (]

(1) 140-55 p31-§ .

{1y 140-55
2y 143

2 143
{3) 150

‘W 181 L (3) 150

(5) Fot 9 &9 =T Vel aels

i6) Not attempted

O 1075+ 075 +1) T we® @i e k- g e positive square root of

1- 075 P
N (o7 + 075+ 019" +1
076
@ 3 L
\/m 3 .
@ 1 (2) 3
(5) T T T wrER 3. 4
4 1
99. 15 7o, 18 dfgend she 12 LS v WA wH FF (6) Not attempted
s 25 & v 2070 s ¥ | AR uw gew, e o 3

+ % m g : 99. 15 men, ilﬂ wumen und 12 boys working togethe
Mmew » hiths ;"'*'3‘2'&"‘“ earned 22070 in a day. If the daily wages of &
lﬂvimmﬂmﬂmm{' a:' man, o woman and a boy are in the ratio o
t: 4% 3 : 2 ithe daily wages (in T) of 1 man
Iil 180 g 2 women and 3 boys are

2 205 (1) 180%

24 (2) 206

(3 240

(4) 135

(5) Not attempted

. I T 516 are divided among three pargons A_ B |
such that A receives 25% more than B 4ng |

mmmmﬂ-hmmh
TS




